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1 Introduction
In RAN4#102-e, a way forward on CQI requirements for inter-cell interference MMSE-IRC was agreed [1]. In this contribution, we present simulation results based on the agreed simulation assumptions and provide our views for the remaining issues shown as below. 

	Issue 2-1-0: Test setup methodology for TP ratio alignment
Agreement: Discuss TP ratio directly without absolute Tput alignment.

Issue 2-2-1: Test setup methodology for signal power
· Option 1: Define test based on SINR
· Option 2: Define test based on SNR

Issue 2-2-2: SINR for 2 Rx 
· Option 1: -2 dB
· Option 2: 0dB or -1 dB

Issue 2-2-3: T-put gain for 2 Rx
· Option 1: 2
· Option 2: 1.5

Issue 2-2-4: BLER for 2 Rx
Agreement: 0.02

Issue 2-2-5: SINR for 4 Rx
· Option 1: -2 dB
· Option 2: SINR requirement for 4Rx should be lower than that for 2Rx
· Option 2a: Consider 3 dB difference for 2 and 4 Rx requirements

Issue 2-2-6: T-put gain for 4 Rx
· Option 1: 2.5
· Option 2: 2
· Option 3: 3
· Option 4: 1.5

Issue 2-2-7: BLER for 4 Rx
Agreement: 0.02


2 Discussion
For the requirements of CQI under the scenario of inter-cell interference, the metric used for testing is the ratio between the throughput with transport format indicated by reported CQI index subject to an interference source and the throughput with the transport format indicated by reported CQI index subject to only a white Gaussian noise source. 
For CQI requirements in LTE, only one parameter SINR is used in the test configuration. For the case with interference source, SINR = S/(I+N) and for the case with white Gaussian noise source, SINR = S/N. In [2], two separate parameters are proposed to describe the test configuration for requirements, which are SNR and INR values. For the case without inter-cell interference, SNR is used. For the case with inter-cell interference, both SNR and INR are used. We agree that it could be more clearly to use separate parameters to define the test case. Also, considering that the INR values are also used for PDCSH requirements in the scenario of inter-cell interference. Hence, we support to define test based on SNR. 
[bookmark: _Hlk95524580]Proposal 1: We support to define test based on SNR, where SNR and INR values are used to define test cases. 
The summary of simulation results in Table 1 which shows the throughout ratio γ between throughput of scheme 1 and scheme 2.
· Scheme 1: Transport format indicated by reported wideband CQI index subject to an interference source with INR=10.04dB (DIP=-0.41dB). 
· Scheme 2: Transport format indicated by reported wideband CQI index subject to a white Gaussian noise source.

Table 1. Summary for the simulation results
	
	FDD 2T2R
	FDD 2T4R

	SINR (dB)
	TP ratio (γ)
	BLER 
	TP ratio
(γ)
	BLER

	-6
	3.40
	3.80%
	3.65
	2.39%

	-5
	3.16
	4.37%
	3.46
	3.46%

	-4
	3.02
	4.50%
	3.22
	3.26%

	-3
	2.82
	4.44%
	2.94
	2.75%

	-2
	2.65
	4.58%
	2.72
	2.55%

	-1
	2.45
	4.67%
	2.48
	2.41%

	0
	2.34
	4.31%
	2.32
	2.15%



According to simulation results, we suggest using same SINR = -2 dB in LTE for both 2Rx and 4 Rx test cases. However, in the last meeting, some companies suggest considering SINR requirement for 4Rx lower than that for 2Rx. We have no strong preference on this. If it is agreed to define SINR requirement for 4Rx lower than that for 2Rx, we support to use the following SINR value to avoid very low SINR for the case of 4Rx.
· [bookmark: _Hlk101742047]2Rx: SINR 0 dB, γ = 2 
· 4Rx: SINR -3 dB, γ = 2
Proposal 2: We suggest using SINR = -2 dB, γ = 2 for both 2Rx and 4Rx. If it is agreed to have SINR requirement for 4Rx should be lower than that for 2Rx. We suggest using SINR 0 dB, γ = 2 for 2Rx and SINR -3 dB, γ = 2 for 4 Rx.
3 Conclusion
In this contribution, we provide our views on the remaining issue and simulation results for CQI requirements in the scenario with inter-cell inter-user interference. The proposals are summarized as below:
Proposal 1: We support to define test based on SNR, where SNR and INR values are used to define test cases.
Proposal 2: We suggest using SINR = -2 dB, γ = 2 for both 2Rx and 4Rx. If it is agreed to have SINR requirement for 4Rx should be lower than that for 2Rx. We suggest using SINR = 0 dB, γ = 2 for 2Rx and SINR = -3 dB, γ = 2 for 4 Rx.
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